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Unit 3 worksheet 2 energy bar chart answers

Thank you for joining us!02-May-2018256 viewsCategory Category: Documents3 Download Embed Size (px) 344 x 292429 x 3 57514 x 422599 x 487TRANSCRIPTModeling Chemistry 1 U3 - ws 2 2 v2.0 Name Date Pd Unit 3 - Worksheet 2 Energy Bar Chart Extension A. Draw a temperature time graph for each of the
situations described below. B. Next, an energy bar chart is used to represent how energy is stored in the system and enters and exits the system. C. Below the diagram, explain how the movement and placement of particles are changing in certain situations. 1. Heat the water (25C) in the pan to the boiling point and bring
some of the water to a boil. For each stage of the process, run the following energy bar chart separately: A. 1 10/Energy Graph: B. Bar Chart: C. Molecular Description: A. Temperature/Energy Graph: B. Bar Chart: C. Molecular Description: 2. Spill water on the shirt and evaporate. A. 100% / Energy Graph: B. Bar Graph:
C. Molecular Description: Modeling Chemistry 2 U3 - ws 2 v2.0 3. Water vapor in the room condenses into a cold surface A. Temperature / energy graph: B. Bar graph: C. Molecular description: 4. Bubbles appeared in liquid water while boiling in a hot laboratory of ice. The box below represents the arrangement of
molecules in liquid water and inside the bubbles. What is in the bubble of liquid water? Let's say the burner under a pot of boiling water turns into a high setting. How does this affect the temperature of the water in the pan? 6. The graph at the bottom left shows the heating curve of the liquid heated from room
temperature to temperature above boiling point. A. If you want to increase the sample of the same liquid, sketch a heating curve. B. A label in which the phase (or phase) of a substance is present in each of the three parts of the heating curve. c. Explain how the arrangement and movement of molecules changes in each
part of the graph. Time time e-temperature display&gt;Thank you for your participation!02-May-2018256 viewsCategory Category: Documents3 Download Embed Size (px) 344 x 2924 29 x 357514 x 422599 x 487TRANSCRIPTModeling Chemistry 1 U3 - ws 2 2 v2.0 Name Date Pd Unit 3 - Worksheet 2 Energy Bar Chart
Extension A. Draw a temperature time graph for each of the situations described below. B. Next, an energy bar chart is used to represent how energy is stored in the system and enters and exits the system. C. Below the diagram, explain how the movement and placement of particles are changing in certain situations. 1.
Heat the water (25C) in the pan to the boiling point and bring some of the water to a boil. For each stage of the process, run the following energy bar chart separately: A. 1 10/Energy Graph: B. Bar Chart: C. Molecular Description: A. Temperature/Energy Graph: B. Bar Graph: C. Molecule2. Spill water on the shirt and part
of it evaporates. A. 100% / Energy Graph: B. Bar Graph: C. Molecular Description: Modeling Chemistry 2 U3 - ws 2 v2.0 3. Water vapor in the room condenses into a cold surface A. Temperature / energy graph: B. Bar graph: C. Molecular description: 4. Bubbles appeared in liquid water while boiling in a hot laboratory of
ice. The box below represents the arrangement of molecules in liquid water and inside the bubbles. What is in the bubble of liquid water? Let's say the burner under a pot of boiling water turns into a high setting. How does this affect the temperature of the water in the pan? 6. The graph at the bottom left shows the
heating curve of the liquid heated from room temperature to temperature above boiling point. A. If you want to increase the sample of the same liquid, sketch a heating curve. B. A label in which the phase (or phase) of a substance is present in each of the three parts of the heating curve. c. Explain how the arrangement
and movement of molecules changes in each part of the graph. Time time e-temperature display &gt; Thank you for your participation! 100 students were asked what is the main means of transportation to go to school. The findings are recorded in the table below. Create a bar chart that represents this information.
Therefore, before drawing a bar chart, you need to consider what the requirements of the graph will be from the information in the table: there are 5 categories, so it must be wide enough for 5 bars, the highest frequency should go 35, that is, the scale of the Y axis should go at least 35 high. Now, remember to leave a
gap between the bars, and if you clearly label which bars represent which mode of transport, the resulting bar graph looks like the one shown. As you can see, this bar chart displays information in a clear and obvious way. The bar chart has the following features: the bars are very clearly labeled and have gaps. The scale
of the y-axis is very easy to read: 1 small square represents one person. The selected scale is suitable for a given data. Both axes are labeled. A survey was conducted asking people about their favorite taste in ice cream. The results of this questionnaire are displayed in a bar chart. a) Use a bar chart to fill in gaps in the
table. To fill in the missing gaps in the table, you need to read the height of the corresponding bar from the bar chart. You can see that a small square is worth 0.6, so the height of the chocolate bar is 12 and the height of the mint choc chip bar is 3. b) Calculate the percentage of those surveyed who have a favorite taste:
strawberries. From the table, you can see that 5 people chose strawberries where they liked. To know what this is as a percentage, you need to find out how manyThere was a total. \text{Total }=12+16+5+3+6=42 Therefore, the percentage of people who chose strawberries is \dfrac{5}{42}\times 100=11.9\%\text{(1
dp)}Your bar chart appears as follows: There needs to be a gap between the bar and every one, and it should be clearly labeled (including the axis and individual bars). a) According to the scale of the y-axis, five small squares account for sales of 2,000 books, so \text{one small square}=2,000\div 5=400\text{So here's
the percentage of sales that were audiobooks: \dfrac{3,000}{3,000+5,000+12,000}\times 100=15\% b) The number of hardback and paperback sales has already been determined. The ratio is: 5,000:12,000 = 5:12 a) For this question, we need to take two bar readings showing 0-5 serving categories per week. The total
number of adults aged 0-5 per week is 4. The total number of children between 0 and 5 per week is 16. Therefore, the number of adults and children between 0 and 5 is 4+16 = 20b) In this question, you need to find a bar that represents 20 or more children and a bar that represents 6-10 children to find out the
difference.  The number of children eating more than 20 meals of fruits and vegetables is 4. The number of children eating fruits and vegetables in 6-10 people is 25. Therefore, the difference between these two categories is 25-4=21 c) mode is the most frequently occurring value. This question is about adults, so we
don't have to consider bars for kids. All we need to do is to see which bars are the highest for adults. 16 - 20 bars is the highest at 22 (the actual number 22 is obviously higher than other adult bars, so you can clearly see that it contains the most values, so you don't have to consider the actual number 22). Therefore, the
mode is 16-20 servings. d) The most basic trend gained from the information given is that adults eat more portions of fruits and vegetables a week than children. a) For this question, we need to find a bar that corresponds to 6-10 hours with the girl and take a reading from the top of the bar. In doing so, you will find 12
girls playing video games for 6-10 hours. b) You should be careful with this question because you are asking for less than 16 hours, so you have to consider all the data on the left side of the 16-20 hour bar. The number of boys who played video games for 11-15 hours was 8, and the number of boys who played 6-10
hours was 2. So the number of boys played within 16 hours was 8 +2 = 10\text{boys}. c) For this reasonWe are looking for no more than 10 hours for girls. This means that you need to look at the first two bars. The number of girls who played 6-10 hours was 12, and 8 girls played 0-5 hours. Therefore, the number of girls
who played video games within 10 hours was 12 +8 =20\text{girls}. This means 20 out of the total number of girls who played within 10 hours.  However, we do not know how many girls there were in total, so we need to add up the sum of each bar. This will allow you to see that there is a total of
8+12+20+14+8+10+6+2=80\text{girls}. Therefore, 20 out of 80 girls play video games within 10 hours and function as 25%. d) To answer this question, you need to find out how many boys are in each category, the total time spent playing video games for all boys, and how many boys there are in total. The total number
of boys is 2 +8 +12 +10 +18 +16 +14=80\text{Boys}If two boys play 9 hours, this represents 18 hours of playing time. If eight boys played for 10 hours, this represents 80 hours of playing time. If 12 boys played 11 hours, this represents 132 hours of playing time. If 10 boys played 12 hours, this represents 120 hours of
playing time. If 18 boys played 13 hours, this represents 234 hours of playing time. If 16 boys played 14 hours, this represents 224 hours of playing time. If 14 boys played 15 hours, this represents 210 hours of playing time. Therefore, the combined boy has a combined total number of hours played: 18 + 80 + 132 + 120 +
234 + 224 + 210 = 1018\text{hour}. If you have 80 boys playing in a total of 1018 hours, the average number of hours can be calculated as follows: \dfrac{1018\text{time}{{80\text{boys}} = 13 \text{hour} Plot frequency (number of boys/girls) for vertical y-axis. All we need to consider is scale. Since the minimum value is 0
and the maximum value is 9, the Y axis must start at 0 and end at 9 (although the axis can extend beyond 9 if necessary). It's probably the x-axis that causes more problems. This is a dual bar chart, so the rows of boys and girls need to be lined up, but there needs to be a gap between each category. In other words,
bars for boys and girls touch each other, but not because the walking and cycling categories are completely separate categories. All bars must be the same as the gap between categories. The end result looks like this:
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